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Statistic review

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1.

Wendy tosses three fair coins. What is the probability that all three coins will land tails up?

a | < .
2 -8
| 1
b. 1 d. 16

Chloe collected data on the ages and heights of a random sample of 5th, 7th, and 9th grade students at her
school. She plotted the data points on a scatterplot. What relationship between age and height is likely seen
on the scatterplot?

a. Positive correlation c. No correlation

b. Negative correlation d. Both positive and negative correlations

At Bombeck Middle School, 50 percent of the students eat lunch in the cafeteria. In the same school, 20
percent of the students ride their bikes to school. What is the probability that a student selected at random
eats in the cafeteria and rides his or her bike to school?

1 1
a. ) C. 10

I 1
B < d 5

Sophia’s science test scores for the first quarter are 50, 50, 79, 82, 83, and 84. Which measure would show
the highest result?

a. Mean c. Mode

b. Median d. Range

For a school carnival, Mia creates a game involving the spinners below.

i

A contestant plays the game by first choosing one of the four rules listed below and then spinning the
spinner. Which rule should a contestant choose to have the greatest chance of winning a prize?

a. Win a prize if the product is greater than 17.

b. Win a prize if the product is odd.

c. Win a prize if the sum is less than 3.

d. Win a prize if the sum or the product is 10.
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6. A spinner and a fair number cube are used in a game. The spinner has four equal sections: red, blue, yellow,

or green. The faces of the cube are numbered 1 through 6. What is the probability of a player spinning the
color red and rolling a 5 or 67
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7. Which scatter plot shows the relationship between the number of gallons of gasoline remaining in a
motorcycle’s tank and the number of miles driven since the tank was filled?
a. C. 3
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8. A number cube is tossed and the spinner below is spun. Find P(greater than 4 and A).
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9. One bag contains 7 red chips and 5 yellow chips. Another bag contains 5 red chips and 2 yellow chips. A
chip is drawn from each bag. What is the probability that both chips are yellow?
a. % i %
b d =
There are 7 yellow, 6 blue, 9 red, and 3 green ribbons in a drawer. Once a ribbon is selected, it is not
replaced. Find each probability.
10. P(2 red ribbons)
a = ¢ —=
b. = d
11. P(2 green ribbons)
a. B% c. ?3—0
b = d 3
12. P(ayellow ribbon and then a blue ribbon)
B o ¢ oo
b s d. 1
13. What is the probability of rolling two number cubes and getting a number greater than 2 on each cube.
a. % c. 1
b = d 2
14. Two coins are tossed 50 times. The results are recorded in the following table.

Tails Occurrence
0 5
1 38
2 7

What is the experimental probability of two tails?
7 -
50 ) 10

b d. 1
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15.

16.

17.

18.

19.

A number cube is rolled 100 times. The results are recorded in the following table.

Number Occurrence
1 14
2 22
3 15
4 13
5 20
6 16
What is the experimental probability of rolling a number greater than 4?7
a e
b. oo d g

100 2

L=

The table shows the results of randomly drawn colored marbles from a bag of 150 marbles.

blue red green white
9 7 4 3

How many marbles in the bag would you expect to be green?

a. 24 c. 42
b. 30 d. 54
How many marbles in the bag would you expect to be red or white?
a. 54 c. 72
b. 66 d. 78

A dog is about to deliver a litter of 4 puppies. Which model can be used to simulate randomly picking the
gender of the first 3 puppies born?

a. flipping a coin 3 times c. flipping a coin once

b. rolling a 6-sided number cube once d. rolling a 6-sided number cube 3 times

Describe each sample.

The first five crates of potatoes off of the truck were checked before accepting the shipment.
a. Biased, convenience sample c. Unbiased, simple random sample
b. Unbiased, systematic random sample d. Unbiased, stratified random sample

Short Answer

20.

2.

There are 7 yellow, 6 blue, 9 red, and 3 green ribbons in a drawer. Once a ribbon is selected, it is not
replaced. Find each probability.

P(a green ribbon and then a red ribbon)

P(two ribbons that are not blue)
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23,

24,

23

One bag contains 7 blue chips and 3 green chips. Another bag contains 2 blue chips and 5 green chips. A chip
is drawn from each bag. What is the probability that both chips are green?

A bowl contains 8 red balls and 7 blue balls. One is drawn at random and not replaced. A second ball is then
drawn. What is the probability that the first ball is blue and the second is red?

Video Palace is running a promotion in which customers can win a free movie. So far, 33 of the first 180
customers have won a free movie. What is the experimental probability of winning a movie?

The following table shows the results of tossing three coins 100 times.

Heads | Frequency
0 18
1 30
2 37
3 15

What is the experimental probability of tossing 3 heads?
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STA: 8.11(A)
STA: 8.12(B)
STA: 8.11(A)
STA: 8.12(A)
STA: 8.11(B)
STA: 8.11(A)
STA: 8.12(B)

The probability of two independent events can be found by multiplying the probability of the first event by
the probability of the second event. For example:

P(odd and A) =

XE__

1
4

Feedback

How do you find compound probabilities?

Did you find the probabilities of each event and multiply?

Did you add the numerators and denominators?

o(0|(m|>

Correct!

OBI:

STA:

KEY

1

DIF: Average

REF: Lesson 8-4

8-4.1 Find the probability of independent and dependent events.
8.11(A) | 8.11(B)
: Independent events | Dependent events

TOP: Find the probability of independent and dependent events.




9.

10.

ANS: D
The probability of two independent events can be found by multiplying the probability of the first event by
the probability of the second event.
If there are 5 red and 4 yellow in the first bag, and 3 red and 9 yellow in the second for example:
4 9 36 1
9% T2 Ths 3
Feedback : ] :
A | That is the probability that the one from the first bag is yellow and from the second is
red.
B | That is the probability that both are red.
C | That is the probability that the one from the first bag is red and the second bag is
yellow.
D | Correct!
PIs: 1 DIF: Average REF: Lesson 8-4
OBJ: 8-4.1 Find the probability of independent and dependent events.
STA: 8.11(A)| 8.11(B) TOP: Find the probability of independent and dependent events.
KEY: Independent events | Dependent events
ANS: A

If two events, A and B, are dependent, then the probability of both events occurring is the product of the
probability of A and the probability of B after A occurs.

ARy e N
2X24—25
Feedback

Correct!

Is the total number of ribbons the same after removing the first one?

A
B | Do not forget that one red ribbon was not replaced.
C
D

Is the number of red ribbons still the same?

PTS: | DIF: Average REF: Lesson 8-4

OBJ: 8-4.2 Find the probability of independent and dependent real-world events.
STA: 8.11(A)|8.11(B)

TOP: Find the probability of independent and dependent real-world events.
KEY: Independent events | Dependent events
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ANS: D

If two events, A and B, are dependent, then the probability of both events occurring is the product of the
probability of A and the probability of B after A occurs.

S .2 b
25 X 24 = 100
Feedback
A | Do not forget that one green ribbon was not replaced.
B | Is the total number of ribbons the same after removing the first one?
C | Is the number of green ribbons still the same?
D | Correct!
PTS: | DIF: Average REF: Lesson 8-4

OBJ: 8-4.2 Find the probability of independent and dependent real-world events.

STA: 8.11(A) | 8.11(B)

TOP: Find the probability of independent and dependent real-world events.

KEY: Independent events | Dependent events

ANS: A

If two events, A and B, are dependent, then the probability of both events occurring is the product of the
probability of A and the probability of B after A occurs.

7 6 T
25 X 22 T o0
Feedback
A | Correct!
B | The ribbon that was not replaced was yellow.
C | Is the number of blue ribbons still the same after the first selection?
D | Is the total number of ribbons the same after removing the first one?

PTS: 1 DIF: Average REF: Lesson 8-4

OBJ: 8-4.2 Find the probability of independent and dependent real-world events.
STA: 8.11(A)| 8.11(B)

TOP: Find the probability of independent and dependent real-world events.
KEY: Independent events | Dependent events

ANS: A

Feedback

Correct!

That is the probability of rolling less than two on both.

That would mean you would always roll greater than two.

o|0|(m|»

That is the probability of rolling greater than two with just one cube.

PTS: 1 DIF: Average REF: Lesson 8-4

OBJ: 8-4.2 Find the probability of independent and dependent real-world events.
STA: 8.11(A)|8.11(B)

TOP: Find the probability of independent and dependent real-world events.
KEY: Independent events | Dependent events
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15.

16.

The experimental probability of rolling 2 tails is the number of times 2 tails occur over the total number of
tosses. Simplify if possible.

Feedback

Correct!

That is the experimental probability of one tail.

That is the experimental probability of zero tails.

o(o|wm|>

That would mean you always rolled two tails.

PTs: 1 DIF: Basic REF: Lesson 8-5

OBJ: 8-5.1 Find experimental probabilities and use them to make predictions.

STA: 8.11(A)|8.11(B)

TOP: Find experimental probabilities and use them to make predictions.

KEY: Probability | Experimental probability

ANS: A

The experimental probability of rolling a number greater than 4 is the number of rolls greater than four over
the total number of rolls.

36 9

100 25

Feedback

Correct!

That is the experimental probability of rolling a 4.

That is the experimental probability of rolling less than 4.

o|0|m|>

Was a number greater than 4 rolled fifty times?

PTS: DIF: Average REF: Lesson 8-5

OBJ: 8-5.1 Find experimental probabilities and use them to make predictions.
STA: 8.11(A)]| 8.11(B)

TOP: Find experimental probabilities and use them to make predictions.
KEY: Probability | Experimental probability

ANS: A

Set up the problem as a proportion, and solve for the variable.
Feedback

A Correct!

B | This is correct for white marbles.

c | This is correct for red marbles.

D | This is correct for blue marbles.

PTS: 1 DIF: Average REF: Lesson 8-5

OBJ: 8-5.2 Find theoretical probabilities and use them to make predictions.
STA: 8.11(A)| 8.11(B)

TOP: Find theoretical probabilities and use them to make predictions.
KEY: Probability | Theoretical probabilities | Predictions
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17. ANS: C

18.

19,

Combine the table results of the two colors. Then set up the problem as a proportion, and solve for the
variable.

Feedback

This is the result for green and white marbles.

This is correct for green and red marbles.

Correct!

gl|o|m|>|

This would be correct for green and blue marbles.

Py 1 DIF: Advanced REF: Lesson 8-5

OBJ: 8-5.2 Find theoretical probabilities and use them to make predictions.

STA: 8.11(A)| 8.11(B)

TOP: Find theoretical probabilities and use them to make predictions.

KEY: Probability | Theoretical probabilities | Predictions

ANS: A

Because a newborn can be either a male or female, flipping a coin 3 times will result in the solution.

Feedback

Correct!

This is correct if there is only one newborn and 6 possible genders!

This would work for one puppy, but we’re expecting more.

o|0|m|(>

This would be correct if there were 6 possible genders.

PIs: | DIF: Basic REF: Lesson 8-7

OBJ: 8-7.1 Perform probability simulations to model real-world situations involving uncertainty.
STA: 8.11(C)

TOP: Perform probability simulations to model real-world situations involving uncertainty.
KEY: Probability | Models | Simulations | Real-world | Uncertainty

ANS: A

This is a biased sample since only the first five crates were checked. This is a convenience sample.

Feedback
A | Correct!
B | Are the potatoes selected according to a specific time or item interval?
¢ | Is each potato as likely to be chosen as any other?
D |Is this sample unbiased?
PTS: .l DIF: Average REF: Lesson 8-8
OBJ: 8-8.1 Predict the actions of a larger group by using a sample.
STA: 8.13(A)| 8.14(A) TOP: Predict the actions of a larger group by using a sample.

KEY: Predictions | Sample space
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20.

21.
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ANS:
Since the green ribbon is not replaced, there is one less ribbon in the drawer when you draw the second
ribbon.

PTS: 1 DIF: Average REF: Lesson 8-4

OBJ: 8-4.2 Find the probability of independent and dependent events in real-world events.

STA: 8.11(A)|8.11(B)

TOP: Find the probability of independent and dependent events in real-world events.

KEY: Independent events | Dependent events

ANS:

Since the first ribbon is not replaced, there is one less ribbon in the drawer when you draw the second ribbon.
Also, there is one less ribbon that is not blue.

PTS: 1 DIF: Average REF: Lesson 8-4

OBJ: 8-4.2 Find the probability of independent and dependent events in real-world events.

STA: 8.11(A)|8.11(B)

TOP: Find the probability of independent and dependent events in real-world events.

KEY: Independent events | Dependent events

ANS:

Since these are independent events, multiply the probabilities of the events to obtain the compound
probability.

PTS: 1 DIF: Average REF: Lesson 8-4

OBJ: 8-4.2 Find the probability of independent and dependent events in real-world events.

STA: 8.11(A)| 8.11(B)

TOP: Find the probability of independent and dependent events in real-world events.

KEY: Independent events | Dependent events

ANS:

Since the first ball is not replaced, these are dependent events. After the first ball is drawn, there is one less
ball in the bowl for the second draw.

PTS: 1 DIF: Average REF: Lesson 8-4

OBJ: 8-4.2 Find the probability of independent and dependent events in real-world events.
STA: 8.11(A)|8.11(B)

TOP: Find the probability of independent and dependent events in real-world events.
KEY: Independent events | Dependent events
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25.

The experimental probability of winning a movie is the number of winners over the total number of
customers.

33 11

180 0

PIB: 1 DIF: Basic REF: Lesson 8-5

OBJ: 8-5.1 Find experimental probability and use them to make predictions.
STA: 8.11(A)| 8.11(B)

TOP: Find experimental probability and use them to make predictions.
KEY: Probability | Experimental probability

ANS:

The experimental probability of tossing 3 heads is the number of times 3 heads are tossed over the total
number on times the coins are tossed.

i5

A5 _ 3

100 20

PTS: | DIF: Basic REF: Lesson 8-5

OBJ: 8-5.1 Find experimental probability and use them to make predictions.
STA: 8.11(A)|8.11(B)

TOP: Find experimental probability and use them to make predictions.
KEY: Probability | Experimental probability



